Factores especiales: Ejemplos

xr—a?=(x—a)x + a) ¥ =9=(x=3)x+3)

=g =(x—a)x®+ ax +a?) =8 =(x- )(;c2+2x+4]

¥+ ad=(x + a)x® —ax + a?) x3+4—(,\: x—i/_x‘l'v/_)
xt—at = (x —a)x + a)(x* + a?) =4 =(x— )[x+ V2)x? +2)
X+ at = (2 4+ Zax + a?)(x? = V2ax + a?) x4+ 4= (x4 2 + 2)(x? = 2x + 2)
x"—a" = (x —a)(x""! + ax""2 + - - - + g""1), para n impar K=l ==D*+ 3+ 2+ x+ 1)
X"+ a = (x + a)(x"" = ax""? 4+ - - - + @"~!), para n impar x7+1 x+ Dxe=x5+ x4 =3+ 22 =x+1)
X2 =g = (x" = g")(x" + a") X=1=x=Dx+1)

(x + a)’ = x* + 2ax + @’ (x+3P=x"+6x+9

Lx—a)z x* = 2ax + a? (x2 —5)2 = x4 — 10x2 + 25

(x + 13+ 3ax? + 3ax + &° (x+2P=x*+6x2+12x+ 8§
[x—a)’—x = 3ax? + 3a’x — o (x=1PF=x=3x*4+3x—-1

(x + a)* = x* + dax® + 6a™® + 4a* + a* (x+ V2] =x* + 44/2x% + 1242 + 8/2x + 4
(x = a)* = x* = dax® + 6a’? = da’x + a* (x = 4)* = x* = 16x* + 96x% — 256x + 256
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Exponentes y radicales:
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